ENFERA=EDHZE(H25~H27)

H25 [H25(ZET)| H26 |H26(R&FH)|resermn|  H27  |H27(REH)|ressmie i
4 A 23478 | 23478 22015| 22,015 -6.2%| 24,281 | 24,281 3.4%
5H 23,730 | 47,208 | 23,206 | 45221 -42% 23359 | 47,640 0.9%
68 21,222 | 68,430 20,561 65,782 -3.9% 21,979 69,619 1.7%
7R 39,730 | 108,160 | 35,613 | 101,395 -6.3%| 33,022 | 102,641 -5.1%
8H 36,975 | 145,135 29,334 | 130,729 -9.9%] 35,187 | 137,828 -5.0%
98 27,606 | 172,741 ] 26,017 | 156,746 -9.3%| 22,868 | 160,696 -7.0%
10AR 25,621 | 198,362 25,975 | 182,721 -7.9%] 24,580 | 185,276 —6.6%
118 25,190 | 223,552 22,350 | 205,071 -8.3%] 20,974 | 206,250 =7.7%
128 39,235 | 262,787 | 38,774 | 243,845 -7.2%] 29,371 | 235,621 -10.3%
1A 41,631 | 304,418 | 39,381 | 283,226 -7.0%] 40,520 | 276,141 -9.3%
2R 32,911 | 337,329 | 29,843 | 313,069 -7.2% 276,141 -18.1%
3R 28,422 | 365,751 27,486 | 340,555 -6.9% 276,141 -24.5%
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